
Kvadratická rovnice
ax2 + bx+ c = 0, a ̸= 0

x1,2 =
−b±

√
D

2a
, kde D = b2 − 4ac

Viètovy vzorce:
x2 + px+ q = 0 → x1 + x2 = −p

x1 · x2 = q

Vzorce pro úpravy algebraických výraz̊u

(a± b)2 = a2 ± 2ab+ b2

(a± b)3 = a3 ± 3a2b+ 3ab2 ± b3

a2 − b2 = (a+ b)(a− b)

a3 ± b3 = (a± b)(a2 ∓ ab+ b2)

Goniometrické vzorce

sin2 x+ cos2 x = 1

sin 2x = 2 sin x cosx

cos 2x = cos2 x− sin2 x

sin2 x =
1− cos 2x

2

cos2 x =
1 + cos 2x

2

Vzorce pro exponenciálńı a logaritmické funkce

ay = x ⇔ y = loga x

ax1 · ax2 = ax1+x2

ax1

ax2
= ax1−x2

(ax1)x2 = ax1·x2

ax · bx = (a · b)x

loga(x1 · x2) = loga x1 + loga x2

loga
x1

x2

= loga x1 − loga x2

loga x
k = k · loga x

loga x =
logb x

logb a

loga x = − log 1
a
x



Vzorce pro derivováńı

[c · f(x)]′ = c · f ′(x)

[f(x)± g(x)]′ = f ′(x)± g′(x)

[f(x) · g(x)]′ = f ′(x) · g(x) + f(x) · g′(x)[
f(x)

g(x)

]′
=

f ′(x) · g(x)− f(x) · g′(x)
(g(x))2

f(x) f ′(x)

c 0

xn nxn−1

ex ex

ax ax · ln a

lnx
1

x

loga x
1

x · ln a

sinx cosx

cosx − sinx

tg x
1

cos2 x

cotg x − 1

sin2 x

arcsinx
1√

1− x2

arccosx − 1√
1− x2

arctg x
1

1 + x2

arccotg x − 1

1 + x2


